
Listening 2 
 

A. Tick (✓) True or False.  

 

B. Write TWO reasons why Solio is weighed. Give short answers. 

a. _____________________________________________________ 

b. _____________________________________________________ 

 

C. Tick (✓) the correct answer.  
1. The black rhino is different from the white rhino because  

a. of its colour.  
b. its top lip is different.  
c. it is less fierce.  

 

2. The black rhino uses its lips to 
a. attack other animals.  
b. dig holes in the ground.  
c. grasp on leaves.  

 
3. The black rhino uses his horns to 

a. protect himself.  
b. rub its back.  
c. detect danger.  

 True False 
a. There are 12 rhinoceros at Portland.    
b. Solio is a young rhinoceros.    
c. Maddie tries to trick Solio into getting weighed.    
d. Solio likes to meet new people.    
e. Solio weighs 1,087kg.   
f. The staff at Portland weigh Solio every month.   



4. In the wild, rhinos are _________________ killed. 
a. hardly ever  
b. frequently   
c. occasionally  

 
5. Some people believe that the rhino’s black horns  

d. are a lovely house decoration.  
e. have medicinal powers.  
f. can help your nails and hair grow.  

 

6. Rhinos are mostly kept in Portland until 

a. they reach the right weight for their size.  
b. they have babies.  
c. they grow long horns.  

 
7. What happened to the eight rhinos that Portland returned to their 

natural habitat? 

a. The population increased because they had babies.   
b. Poachers hunted them down.  
c. The rhinos couldn’t get used to the wild.  

 

 

 


